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RUN 700002720
-

Charge Injection

® Layer 3

# Loop on all columns (0-11)

# Injection charge in LE electronic only

# Reading everything: 4 range, non zero suppress

= In the following plots L;_C';_ R, means:
Layer I, Column |, Range k

o |
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Analysisfor Tower

For charge injection in CO, C1, C2
Looking at C1, in layers: 1, 3and 5

for ranges 0, 1, 2, and 3: positive side

For charge injection in C4, C5, C6
Looking at C5, in layers: 1, 3and 5

for ranges 0, 1, 2, and 3: positive side

For charge injection in C7, C8, C9
Looking at C8, in layers: 1, 3and 5

for ranges 0, 1, 2, and 3: positive side

For charge injection in C9, C10, C11
Looking at C10, in layers: 1, 3 and 5

for ranges 0, 1, 2, and 3: positive side
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Looking at C1 when Injection in C1
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L ooking at C1 when Injection in CO
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Looking at C1 when Injection in C2
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Layer 3
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L ooking at C5 when Injection in C5
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Layer 1

Layer 3

L ooking at C5 when Injection In
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L ooking at C5 when Injection in C6

LEXS8 LEX1 HEXS8 HEX1
[m‘ [DACysADC L1_C5_RL | [m [DACvSADC L1_C5_R3 |

6|

° KK

ADC- Pedest al
ABC- l{@‘dee_mal

ADG: Pedest al

© ABC- Redespal

Layer 1

-0.5 0.4
0 500 10001500200025003000350040004500 0 500 10001500200025003000350040004500 0 500 10001500200025003000350040004500 0 50010001500200025003000350040004500
DAC DAC DAC DAC

DACVSADC_L3_C5_RO | DACvsADC_L3_C5_RL | DACVSADC_L3_C5_R2 | DACvSADC_L3_C5_R3 |

S5 F 5k T T

! o 230F 2 4k

0)30 - [} L] L]

=) = 4F =] =]

7] [ j3 j2}

a a o sk

Q25F Q.5 §

< < < 3

20F

Layer 3 =

oADC- Pedest al

0 500 10001500200025003000350040004560 0 500 10001500200025003000350040004560 0 500 10001500200025003000350040004560 0 50010001500200025003000350040004500
DAC DAC DAC DAC

Xtalk in the calorimeter — p.9/16



L ooking at C8 when Injection in C8
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L ooking at C8 when Injection in C7
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L ooking at C8 when Injection in C9
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ooking at C10 when Injection in C10
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ooking at C10 when Injection in C9
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L ooking at C10 when Injection in C11
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l

l

Obsarved Xtalk
-

One column to the side columns: same layer, all ranges

. range 1 to range 2: same layer and column

. Layer 3 to layers 1 and 5: same column, same range

Sasha corrected already for points 1. and 2.
3. 1S negligible

did not find xtalk between crystals far one from each
other (e.g. column i to i+n with n>1)

nothing new...got back to the MC.
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